
–  



  
 

 
 

 

 

 

 
OUR COMPANY 

Southwest Cable Railing has been in the cable rail industry business since 
2012. We provide high quality products, flexibility on pricing and excellent 
customer service to meet all customer needs. We import all of our products 
direct from one of high-quality products factory from Asia. Our business is 
growing fast, due to our high-quality products and competitive pricing plus 
the loyalty and honesty we provide to our customers to build up an 
ongoing friendship. We have one of the largest inventory stock on all cable 
railing products in the west coast. With the most varieties of cable rail 
product lines to satisfy our customer needs. Our product lines are all 
marine grade Type 316 stainless steel that includes: United Coarse Thread 
– “UNC” & United Fine Thread – “UNF” on all machine swage fittings up to 
1/2” cable and hand swage fittings up to 1/4” cable; wrench flat and lifeline 
as well. We can also import any “special made” customer products. Please 
feel free to contact us with any inquiries or questions. 

 
TERMS OF USE 

Southwest Cable Railing diligently strives to provide as accurate 
information as possible. However, as all specifications and descriptions are 
done manually some of the information, including price, descriptions, 
specifications, and/or quantities may not be 100% accurate. The product 
pictures are used only for reference and may differ slightly from the actual 
appearance of the product. Pictures are representational only. Packaging 
of actual unit may vary. Photos, drawings and logos not to be reproduced 
without the express written consent of Southwest Cable Railing. 

 
HEADQUATERS: 
 
116 East Live Oak Ave #847  

Arcadia, CA 91006 

Telephone:  626-806-8773  

www.swcablerailing.com 

Please contact us anytime.  

We will be happy to assist you with any inquiries.  



  
 

 
 

 

 

 
 

 

Cables 1 

Tools 2-3 

Swage Studs 4-11 

Invisible Fitting 12-18 

Toggle Fittings 19-20 

Threaded Fittings 21-24 

Nuts and Washers 25-31 

Turnbuckle Fittings 32-43 

Rapid lock (Swageless) 44 

Black Oxide Fittings 45-54 

 

Reference Information 55-57 

 



  
 

 
 

 

 

 

1x19 cable P1 7x19 cable P1 Hs tool P2 Hs tool P2 Hs tool P2 

 

 
  

   

cable cutter P2 cable cutter P3 Machine swager P3 Machine swager P3 HS studs P4 

 
  

  

 

Ms stud P5 Hs Life line 
stud P6 ms Life line 

stud P7 Hs lag stud P8 Hs drop pin 
stud P8 

    

 

Hs adjustable 
stud P9 

ms adjustable 
stud P9 Ms rescue stud P10 Hs/ms angle stud P10 

Hs/ms marine 
eye P11 

 

  
 

 
 

Invisible 
receiver 

P12 Hs/ms invisible 
stud 

P12 Hs/ms dome P13 Dome receiver P14 Hs round dome 
stud 

P14 

 
  

 

  

 

 

 



  
 

 
 

 

 

 

Hs/ms stemball 
for metal post 

P15 Hs/ms stemball 
for wood post 

P15 Stem head 
invisible receiver 

P16 Hs/ms stem head 
stud 

P16 Streamline 
receiver 

P17 

  

 
 

 

Streamline stud P17 ¼” streamline 
set P18 Streamline stud 

thick wall P18 
Streamline stud 
MoS2 coating P18 Hs/ms swage 

toggle jaw P19 

 
 

 
  

 

Hs/ms deck 
toggle P19 

Hs/ms swage 
jaw P20 Threaded rod P21 

Threaded lag 
(hanger bolt) P21 

Threaded eye 
tab P22 

 

  
 

 
 

Threaded deck 
toggle P22 Threaded 

toggle P23 Threaded jaw P23 Threaded drop 
pin P24 Threaded dome P24 

 
 

   
 

Angled washer P25 
Standoff for 
round post P25 

Angled washer 
for round post P26 Countersunk angled 

washer round post P26 
Countersunk 
angled washer P27 

 

 
 

    

 

 



  
 

 
 

 

 

 
Flat washer P27 Cap nut P28 Streamline cap P28 Hex nut P29 Dome end cap P29 

    
 

Flat dome cap P30 Round dome cap P30 Ball end cap P30 
Protective 
sleeves P31 Cross cable clip P31 

 
   

 
 

Wood screw P31 Pipe body 
turnbuckle 

P32 Hs/ms stud & 
stud tb 

P33 Hs/ms ll stud & 
stud tb 

P34 Hs/ms rod & stud 
tb 

P35 

 
 

   

Hs/ms rod & ll 
stud tb P36 Hs/ms lag & 

stud tb P37 Hs/ms lag & ll 
stud tb P37 Hs/ms drop pin & 

stud tb P38 Hs/ms drop pin & 
ll stud tb P38 

 
 

    

Hs/ms toggle & 
stud tb 

P39 Hs/ms toggle & 
ll stud tb 

P39 Hs/ms deck toggle 
& stud tb P40 Hs/ms deck toggle 

& ll stud tb P40 Hs/ms jaw & 
stud tb 

P41 

 
 

 

   

 

 

 



  
 

 
 

 

 

 
Hs/ms jaw & 
stud tb P41 Jaw & jaw tb P42 

Toggle jaw & 
toggle jaw tb P42 

Marine eye & eye 
tb P43 

Rapid lock 
(swage less) P44 

 
 

    

Rapid lock cap P44 Hex nut – rapid 
lock cap 

P44 Hs stud P45 Hs ll stud P45 Hs lag stud P45 

  

 

  

Hs drop pin stud P46 Streamline 3/16” P46 Hd dome stud P47 Hs invisible stud 
& rcvr P47 Round dome 

receiver P47 

 
 

 
  

 

Hs round dome 
stud P48 Hs toggle jaw P48 Hs jaw  P48 Hs deck toggle P48 

Hs/ms jaw & 
stud tb P49 

 
 

 

 
 

 

Hs/ms jaw & ll 
stud tb P49 Hs/ms toggle 

jaw & stud tb P49 Hs/ms toggle jaw 
& ll stud tb P49 Hs/ms deck toggle & 

ll stud tb P50 Hs/ms deck 
toggle & stud tb P50 

 
 

 
 

   

 

 



  
 

 
 

 

 

 

Hs drop pin & ll 
stud tb 

P50 Hs drop pin & 
stud tb 

P50 Hd lag & ll stud 
tb 

P51 Hd lag & stud tb P51 Hs stud & stud 
tb 

P51 

 
 

    

Pipe body tb P51 Hex nut unc P52 Cap nut P52 Round cap  P52 Flat dome cap P52 
 
 

 

 

  

Protective sleeve P53 Angled washer P53 Flat washer P53 Wood screw P54 1/8” 1x19 cable P54 
 
 

 
 

  

Swage 
dimensions P55 

Conversion 
chart P56 

Thread pitch 
chart P57     

 
 

 

  

 

  

 

 



 

 
1 

 

 
 

 

 

 

  

Part No. Size Construction WLL (LBS) Approx. WT/100ft (LBS) 

T6WR119-18L  1/8” 1x19 420 3.50 

T6WR119-316L 3/16” 1x19 940 7.70 

T6WR119-14L  1/4” 1x19 1,640 13.50 

 ** 1/4" n0n-low carbon also available** 

 

        
       

 
     

ITEM SIZE Construction WLL (LBS) Approx. WT/100ft (LBS) 

T6WR719-18L 1/8” 7x19 350 2.90 

T6WR719-316L 3/16” 7x19 740 6.50 

T6WR719-14L 1/4" 7x19 1280 11lb 

 

 

Available in the following reel sizes: 500ft – 1,000ft, (2,500FT 1/4” 1X19 ONLY) & 5,000ft  

Low Carbon for long lasting against Rust and Corrosion. 

  



 

 
2 

 

 

 

 

 

Part No. Cable Size # of Cavity Total Length Net Wt. (LBS) 

SST-1-17  1/8” 1 17” 2.20 
 

 

Part No. Cable Size # of Cavity Total Length Net Wt. (LBS) 

SST-2 1/8” & 3/16” 2 22.50” 4.50  
 

 

Part No. Cable Size # of Cavity Total Length Net Wt. (LBS) 

SST-3 1/8” & 3/16” & 1/4" 3 30” 8.80 
 

 
 

Part No. Cable Size Total Length Net Wt. (LBS) 

WC-15.4 UP TO 1/2" 18-1/2” 3.30 
 
  



 

 
3 

 

 

 
 

 
 

 
 

Part No. Cable Size Total Length Net Wt. (LBS) 

WC-8 UP TO 1/8" 8 1.00 

 
 
 

Part No. STUD Size DIES INCLUDED Net Wt. (LBS) 

HD-30SET UP TO 3/16" 2 101 

 
 
 
 
 

Part No. STUD Size DIES INCLUDED Net Wt. (LBS) 

HD-30SET UP TO 1/4" 3 143 



 

 
4 

 

 

 

 

 
 
 
 
 
 
 

 

Part No.  A (Thread) B (Cable Size) C L 

T6HSST14-18L (Left) 1/4" - 20 1/8” 2” 4” 

T6HSST14-18R (Right) 1/4" - 20 1/8” 2” 4” 

T6HSST14-316L (Left) 1/4" – 20 3/16” 2-1/2” 4-1/4” 

T6HSST14-316R (Right) 1/4" - 20 3/16” 2-1/2” 4-1/4” 

T6HSST516-14R (Right) 5/16" - 18 1/4” 3-3/16” 5-1/2” 

T6HSST516-14L (Left) 5/16" - 18 1/4” 3-3/16” 5-1/2” 

LONG STUD – right hand only 

T6HSST14-18-5R (RIGHT) 1/4" - 20 1/8” 2-1/16” 5” 

T6HSST14-18HSXL7.5 1/4" - 20 1/8” 2” 7-1/2” 

T6HSST14-18HSXL (Extra Long) 1/4" - 20 1/8” 2” 10” 

T6HSST14-316-5.63R (Right) 1/4" - 20 3/16” 2-3/8” 5-5/8” 

T6HSST14-316HSXL8.0 1/4" - 20 3/16” 2-7/16” 8” 

T6HSST14-316HSXL (Extra Long) 1/4" - 20 3/16” 2-7/16” 10” 

T6HSST516-14HSXL (Right) 5/16" - 18 1/4” 3-3/16” 10” 



 

 
5 

 

 

 

 

 
 
 
 
 

 
 

 

Part No. A (Thread) B (Cable Size) C L 

T6MSST14-18L (Left) 1/4" - 20 1/8” 2” 4” 

T6MSST14-18R (Right) 1/4" - 20 1/8” 2” 4” 

T6MSST14-532L (Left) 1/4" - 20 5/32” 2-7/16” 4-3/8” 

T6MSST14-532R (Right) 1/4" - 20 5/32” 2-7/16” 4-3/8” 

T6MSST14-316L (Left) 1/4" - 20 3/16” 2-3/8” 4-1/4” 

T6MSST14-316R (Right) 1/4" - 20 3/16” 2-3/8” 4-1/4” 

T6MSST516-316L (Left) 5/16” - 18 3/16” 2-9/16” 4-7/8” 

T6MSST516-316R (Right) 5/16” - 18 3/16” 2-9/16” 4-7/8” 

T6MSST516-14L (Left) 5/16” - 18 1/4" 3-1/8” 5-1/2” 

T6MSST516-14R (Right) 5/16” - 18 1/4" 3-1/8” 5-1/2” 

T6MSST38-316L (Left) 3/8” - 16 3/16” 2-9/16” 5-11/32” 

T6MSST38-316R (Right) 3/8” - 16 3/16” 2-9/16” 5-11/32" 

T6MSST38-14L (Left) 3/8” - 16 1/4” 3-3/16” 6” 

T6MSST38-14R (Right) 3/8” - 16 1/4” 3-3/16” 6” 

T6MSST12-14L (Left) 1/2” - 13 1/4” 3-5/16” 6-9/16” 

T6MSST12-14R (Right) 1/2” - 13 1/4” 3-5/16” 6-9/16” 

T6MSST12-516L (Left) 1/2” - 13 5/16” 4” 7-5/16” 

T6MSST12-516R (Right) 1/2” - 13 5/16” 4” 7-5/16” 

T6MSST58-38L (Left) 5/8” - 11 3/8” 4-5/16” 8-11/16” 

T6MSST58-38R (Right) 5/8” - 11 3/8” 4-5/16” 8-11/16” 

T6MSST34-12L (Left) 3/4" - 10 1/2" 4-9/32” 10” 

T6MSST34-12R (Right) 3/4" - 10 1/2” 4-9/32” 10” 

  



 

 
6 

 

 

 

 

 

 
Part No.  A (Cable Size) B (Thread) c L 

T6HLSST14-18L (Left) 1/8” 1/4" - 20 1-13/16” 4-1/4” 

T6HLSST14-18R (Right) 1/8” 1/4" - 20 1-13/16” 4-1/4” 

T6HLSST14-18UNFR4.5 1/8” 1/4" – 20 1-13/16” 4-1/2” 

T6HLSST14-18HSXL (Extra Long) 1/8” 1/4" - 20 1-13/16” 10” 

T6HLSST14-18UNFL (Left) (Fine Thread) 1/8” 1/4" - 28 1-13/16” 4-1/4” 

T6HLSST14-18UNFR (Right) (Fine Thread) 1/8” 1/4" - 28 1-13/16” 4-1/4” 

T6HLSST14-316L (Left) 3/16” 1/4" - 20 1-11/16” 4-1/4” 

T6HLSST14-316R (Right) 3/16” 1/4" - 20 1-11/16” 4-1/4” 

T6HLSST14-316HSXL (Extra Long) 3/16” 1/4" - 20 1-13/16” 10” 

T6HLSST14-316UNFL (Left) (Fine Thread) 3/16” 1/4" - 28 1-13/16” 4-1/4” 

T6HLSST14-316UNFR (Right) (Fine Thread) 3/16” 1/4" - 28 1-13/16” 4-1/4” 

T6HLSST516-14L (Left) 1/4" 5/16” - 18 2-11/32” 4-3/4” 

T6HLSST516-14R (Right) 1/4" 5/16” - 18 2-11/32” 4-3/4” 

T6HLSST516-14HSXL (Extra Long) 1/4" 5/16” - 18 2-11/32’ 12-1/4” 

T6HLSST516-14UNFL (Left) (Fine Thread) 1/4" 5/16” - 24 2-11/32” 4-3/4” 

T6HLSST516-14UNFR (Right) (Fine Thread) 1/4" 5/16” - 24 2-11/32” 4-3/4” 

T6HLSST38-14L (Left) 1/4" 3/8” - 16 2-11/32” 5-1/4” 

T6HLSST38-14R (Right) 1/4" 3/8” - 16 2-11/32” 5-1/4” 

T6HLSST38-14HSXL (Extra Long) 1/4" 3/8” - 16 2-11/32” 12-1/4” 

T6HLSST38-14UNFL (Left) (Fine Thread) 1/4" 3/8” – 24 2-1/4” 5-1/4” 

T6HLSST38-14UNFR (Right) (Fine Thread) 1/4" 3/8” - 24 2-1/4” 5-1/4” 
 

  



 

 
7 

 

 

 

 

 

 
Part No.  A (Cable Size) B (Thread) C L 

T6MLSST14-18L (Left) 1/8” 1/4" – 20 1-13/16” 4-1/4” 

T6MLSST14-18R (Right) 1/8” 1/4" - 20 1-13/16” 4-1/4” 

T6MLSST14-18UNFL (Left) (Fine Thread) 1/8” 1/4" - 28 1-13/16” 4-1/4” 

T6MLSST14-18UNFR (Right) (Fine Thread) 1/8” 1/4" - 28 1-13/16” 4-1/4” 

T6MLSST14-316L (Left) 3/16” 1/4" - 20 1-11/16” 4-1/4” 

T6MLSST14-316R (Right) 3/16” 1/4" - 20 1-11/16” 4-1/4” 

T6MLSST14-316UNFL (Left) (Fine Thread) 3/16” 1/4" - 28 1-11/16” 4-1/4” 

T6MLSST14-316UNFR (Right) (Fine Thread) 3/16” 1/4" - 28 1-11/16” 4-1/4” 

T6MLSST516-316UNFR (Right) 3/16” 5/16”-24 1-11/16” 2-1/8” 

T6MLSST516-14L (Left) 1/4" 5/16” - 18 2-5/16” 4-3/4” 

T6MLSST516-14R (Right) 1/4" 5/16” - 18 2-5/16” 4-3/4” 

T6MLSST516-14HSXL (Extra Long) 1/4" 5/16” - 18 2-5/16” 12-1/4” 

T6MLSST516-14UNFL (Left) (Fine Thread) 1/4" 5/16” - 24 2-5/16” 4-3/4” 

T6MLSST516-14UNFR (Right) (Fine Thread) 1/4" 5/16” - 24 2-5/16” 4-3/4” 

T6MLSST516-14UNFXLR (Extra Long) (Right) (Fine Thread) 1/4” 5/16”-24 2-5/16” 12-1/4” 

T6MLSST38-14L (Left) 1/4" 3/8” - 16 2-5/16” 5-1/4” 

T6MLSST38-14R (Right) 1/4" 3/8” - 16 2-5/16” 5-1/4” 

T6MLSST38-14HSXL (Extra Long) 1/4" 3/8” - 16 2-5/16” 12-1/4” 

T6MLSST38-14UNFL (Left) (Fine Thread) 1/4" 3/8” – 24 2-5/16” 5-1/4” 

T6MLSST38-14UNFR (Right) (Fine Thread) 1/4" 3/8” - 24 2-5/16” 5-1/4” 
  



 

 
8 

 

 

 

 

 

 

Part No. A (Cable Size) B C L 

T6HLST-18 (Right) 1/8” 2” 1.46” 4” 

T6HLST-18L (Left) 1/8” 2” 1.46” 4” 

T6HLST-316 (Right) 3/16” 2” 2” 4-3/8” 

T6HLST-316L (Left) 3/16” 2” 2” 4-3/8” 

T6HLST-316A (Right) 3/16” 2” (3/8” THREAD) 2” 4-3/8” 

T6HLST-14 (Right) 1/4" 1-11/16” 2.58” 5-1/4” 

T6HLST-14L (Left) 1/4" 1-11/16” 2.58” 5-1/4” 

 

 

 
 

 

Part No. A (Cable Size) H L 

T6HDPST-18 1/8” 1/4” 3-3/4” 

T6HDPST-316 3/16” 1/4" 4” 

Short Style 

T6HDPST-18S 1/8” 1/4” 2-1/4” 

T6HDPST-316S 3/16” 1/4" 2-1/4” 

MACHINE SWAGE 

T6MDPST-18S 1/8” 1/4” 2-1/4” 

T6MDPST-316S 3/16” 1/4" 2-1/4” 

  



 

 
9 

 

 

 

 

 

 
 

Part No. A (Cable Size) B C D L 

T6HADST14-18 1/8” 1/4"-20 1-3/4” 0.25” 3-1/2” 

T6HADST14-316 3/16” 1/4”-20 1-3/4” 0.35” 4” 

T6HADST516-14 1/4” 5/16”-18 2” 0.49 4-5/8” 

 

 

 

 
 

Part No. A (Cable Size) B C D L 

T6MADST14-18 1/8” 1/4"-20 1-3/4” 0.25” 3-1/2” 

T6MADST14-316 3/16” 1/4”-20 1-3/4” 0.35” 4” 

T6MADST516-14 1/4” 5/16”-18 2” 0.49 4-5/8” 

 

  



 

 
10 

 

 

 

 

 

 

 

Part No. A (Cable Size) D E F L 

T6MRSCST-18 1/8” 1.12” 0.25” 0.21” 3.45” 

T6MRSCST-316 3/16” 1.12” 0.30” 0.25” 3.45” 

T6MRSCST-14 1/4” 1.12” 0.42” 0.38” 3.45” 

 

 

 

 

 

Part No. B (Cable Size) L L1 D1 D2 

Hand Swage 

T6HAST-18 1/8” 1-1/2” 3/4" 1/4" 1/8” 

T6HAST-316 3/16” 1-1/2” 3/4" 3/8” 3/16” 

Machine Swage 

Part No. B (Cable Size) L L1 D1 D2 

T6MAST-18 1/8” 1-1/2” 3/4" 1/4” 1/8” 

T6MAST-316 3/16” 1-1/2” 3/4" 3/8” 3/16” 

  



 

 
11 

 

 

 

 

 

 

Part No. A (Cable Size) B C D L 

T6HEST-18 1/8” 1/4" 5/32” 2-1/8” 2-5/8” 

T6HEST-316 3/16” 3/8" 1/4” 3-7/32” 3-5/8” 

T6HEST-14 1/4” 1/2” 5/16” 3-15/16” 4-1/4” 

 

 

  

Part No. A (Cable Size) B C D L 

T6MEST-18 1/8” 1/4' 5/32” 2-1/8” 2-5/8” 

T6MEST-316 3/16” 3/8” 1/4" 3-1/8” 3-5/16” 

T6MEST-14 1/4” 1/2" 5/16” 3-11/16” 3-15/16” 

T6MEST-516 5/16” 9/16” 3/8” 4-7/8” 5-9/16” 

T6MEST-38 3/8” 5/8” 15/32” 5-1/2” 5-29/32” 

T6MEST-12 1/2" 3/4" 19/32” 6-3/16” 7-1/32” 



 

 
12 

 

 

 

 

 
 

Part No. T (Thread) A D L 

T6RCVR14-18/316 1/4"-20 0.62” 0.38” 2-3/16” 

T6RCVR516-14 5/16”-18 0.70 0.48” 2-3/16” 

T6RCVR38-14 3/8”-16 0.70” 0.48” 2-3/16” 
 

 

 

  

Part No. A (Cable Size) B (Thread) L 

Hand Swage 

T6HSST14-18INV 1/8” 1/4”-20 2-3/4” 

T6HSST14-316INV 3/16” 1/4”-20 2-3/4” 

T6HSST516-14INV 1/4" 5/16”-18 2-3/4” 

T6HSST38-14INV 1/4" 3/8”-16 2-3/4” 

Machine Swage 

Part No. A (Cable Size) B (Thread) L 

T6MSST14-18INV 1/8” 1/4”-20 2-3/4” 

T6MSST14-316INV 3/16” 1/4”-20 2-3/4” 

T6MSST516-14INV 1/4" 5/16”-18 2-3/4” 

  



 

 
13 

 

 

 

 
 
 

 
 

 

Hand Swage 

Part No. D (Cable Size) A L 

T6HDOME-18 1/8” 5/8” 2-1/4” 

T6HDOME-18P (Plain Head) 1/8” 5/8” 2-1/4” 

T6HDOME-316 3/16” 5/8” 2-3/8” 

T6HDOME-316P (Plain Head) 3/16” 5/8” 2-3/8” 

T6HDOME-14 1/4” 11/16” 2-13/16” 

T6HDOME-14P (Plain Head) 1/4” 11/16” 2-13/16” 

Machine Swage 

Part No. D (Cable Size) A L 

T6MDOME-18 1/8” 5/8” 2-1/4” 

T6MDOME-18P (Plain Head) 1/8” 5/8” 2-1/4” 

T6MDOME-316 3/16” 5/8” 2-3/8” 

T6MDOME-316P (Plain Head) 3/16” 5/8” 2-3/8” 

T6MDOME-14 1/4” 11/16” 2-13/16” 

T6MDOME-14P (Plain Head) 1/4” 11/16” 2-13/16” 

 
  



 

 
14 

 

 

 

 

 
 

 

Part No. A (THREAD) B C D E F L 

T6DRCVR14-18/316-1.5 1/4”-20 1/2” 3/8” 19/32” 5/32” 1” 1-1/2” 
 

 

 
 

 

Part No. A B C D E L 

T6RHDOME-18-1.5 1/8” 7/32” 1.00” 19/32” 5/32” 1-1/2” 

T6RHDOME-316-1.5 3/16” 9/32” 1.00” 19/32” 5/32” 1-1/2” 

 

  



 

 
15 

 

 

 

 

 

 
Part No. A (Cable Size) L 

Hand Swage 

T6HSTEM-18M (Metal Post) 1/8” 1-3/8” 

T6HSTEM-316M (Metal Post) 3/16” 1-5/8” 

T6HSTEM-14M (Metal Post) 1/4” 2” 

Machine Swage 

Part No. a (Cable Size) L 

T6MSTEM-18M (Metal Post) 1/8” 1-3/8” 

T6MSTEM-316M (Metal Post) 3/16” 1-5/8” 

T6MSTEM-14M (Metal Post) 1/4” 2” 
 
 

 
 

 

Part No. A (Cable Size) L 

Hand Swage 

T6HSTEM-18W (Wood Post) 1/8” 1-3/8” 

T6HSTEM-316W (Wood Post) 3/16” 1-5/8” 

T6HSTEM-14W (Wood Post) 1/4” 2” 

Machine Swage 

Part No. A (Cable Size) L 

T6MSTEM-18W (Wood Post) 1/8” 1-3/8” 

T6MSTEM-316W (Wood Post) 3/16” 1-5/8” 

T6MSTEM-14W (Wood Post) 1/4” 2” 



 

 
16 

 

 

 

 

Part No. A B (Thread) C L 

T6STEMRCVR14-18/316 3/8” 1/4" -20 9/16” 1-53/64” 

T6STEMRCVR14-18/316F 3/8” 1/4"-28 9/16” 1-53/64” 
 
 

 

 
 

 

Hand Swage 

Part No. A (Cable Size) B  C (Thread) L 

T6HSTMSTD14-18 1/8” 9/16” 1/4"-20 2-5/8” 

T6HSTMSTD14-18F 1/8” 9/16” 1/4"-28 2-5/8” 

T6HSTMSTD14-316 3/16” 9/16” 1/4"-20 2-5/8” 

T6HSTMSTD14-316F 3/16” 9/16” 1/4"-28 2-5/8” 

Machine Swage 

Part No. A (Cable Size) B  C (Thread) L 

T6MSTMSTD14-18 1/8” 9/16” 1/4"-20 2-5/8” 

T6MSTMSTD14-18UNF 1/8” 9/16” 1/4"-28 2-5/8” 

T6MSTMSTD14-316 3/16” 9/16” 1/4"-20 2-5/8” 

T6MSTMSTD14-316UNF 3/16” 9/16” 1/4"-28 2-5/8” 



 

 
17 

 

 

 

 

 
 

 

Part No. A D T (Thread) L 

T6STRBODY516-1.5 0.53” 0.43” 5/16”-24 1-1/2” 

T6STRBODY516-1.75 0.53” 0.43” 5/16”-24 1-3/4” 

T6STRBODY516-2 0.53” 0.43” 5/16”-24 2” 

T6STRBODY516-3 0.55” 0.43” 5/16”-24 3-7/64” 

T6STRBODY716-2 0.625” 0.53” 7/16”-20 2-1/8” 

 

 
 

 

Part No. L M (Cable) T (Thread) 

T6STRSTUD-18 1” 1/8” 5/16”-24 

T6STRSTUD-316 1” 3/16” 5/16”-24 

T6STRSTUD-14 1-1/4” 1/4” 7-16”-20 

 

 

  



 

 
18 

 

 

 

 

 
 

 

Part No. A D T (Thread) L1 L2 M (Cable) 

T6STREAMLINE-14 0.625” 0.53” 7/16”-20 2-1/8” 1-1/4” 1/4” 

 
 

 
 
 

 
Part No. A B (CABLE) C D T (THREAD) L 

T6STRSTUD-18S 5/16” 1/8” 11/32” 31/64” 5/16”-24 1” 

 

 

 

 
 
 

 
Part No. A B (CABLE) C D T (THREAD) L 

T6STRSTUD-18SMD 5/16” 1/8” 11/32” 31/64” 5/16”-24 1” 

T6STRSTUD-316SMD 5/16 3/16” 11/32” 13/32” 5/16”-24 1” 



 

 
19 

 

 

 

 

 
 

 
HAND SWAGE 

Part No. A (Cable Size) B C D 

T6HTST-18 1/8” 0.38” 3-1/2” 0.23” 

T6HTST-316 3/16” 0.38” 3-3/4” 0.23” 

T6HTST-14 1/4" 0.50 5” 0.31” 

MACHINE SWAGE 

Part No. A (Cable Size) B C D 

T6MTST-18 1/8” 0.38” 3-1/2” 0.23” 

T6MTST-316 3/16” 0.38” 3-3/4” 0.23” 

T6MTST-14 1/4" 0.50 5” 0.31” 
 

 
 

 
 

HAND SWAGE 

Part No. A (Cable Size) B C L 

T6HDTST-18 1/8” 1/4" 1-3/8” 3” 

T6HDTST-316 3/16” 1/4" 1-3/8” 3” 

T6HDTST-14 1/4" 3/8” 1-1/2” 5” 

MACHINE SWAGE 

Part No. A (Cable Size) B C L 

T6MDTST-18 1/8” 1/4" 1-3/8” 3” 

T6MDTST-316 3/16” 1/4” 1-3/8” 3” 

T6MDTST-14 1/4" 3/8” 1-1/2” 5” 
  



 

 
20 

 

 

 

 

 
 

 

Hand Swage 

Part No. A (Cable Size) B C D 

T6HJST-18 1/8” 0.23” 0.40” 2.20” 

T6HJST-316 3/16” 0.31” 0.42” 2.75” 

T6HJST-14 1/4" 0.35” 0.47” 3.35” 

Machine Swage 

Part No. A (Cable Size) B C D 

T6MJST-18 1/8” 0.23” 0.40” 2.60” 

T6MJST-532 5/32” 0.31” 0.46” 3.30” 

T6MJST-316 3/16” 0.31” 0.46” 3.35” 

T6MJST-14 1/4" 0.35” 0.47” 3.85” 

T6MJST-516 5/16” 0.62 0.67” 5.65” 

T6MJST-38 3/8” 0.55” 0.81” 6.15” 

T6MJST-12 1/2" 0.75” 0.91 7.70” 

  



 

 
21 

 

 

 

 

 
  

Part No. A (Thread) B C L 

T6THR-14L (Left) 1/4”-20 2” 1/2” 4-1/2” 

T6THR-14R (Right) 1/4”-20 2” 1/2" 4-1/2” 

T6THR-14UNFR (Right) 1/4”-28 2” 1/2" 4-1/2” 

T6THR-516L (Left) 5/16”-18 2-5/16” 1/2" 4-3/4” 

T6THR-516R (Right) 5/16”-18 2-5/16” 1/2" 4-3/4” 

T6THR-516UNFR (Right) 5/16”-24 2-5/16” 1/2" 4-3/4” 

T6THR-38L (Left) 3/8”-16 2-9/16” 9/16” 5-1/8” 

T6THR-38R (Right) 3/8”-16 2-9/16” 9/16” 5-1/8” 

 

 
 

 

Part No. D (Thread) A B C 

T6LHR-14L (Left) 1/4" - 20 3-3/4” 1-3/4” 1-1/2” 

T6LHR-14R (Right) 1/4" - 20 3-3/4” 1-3/4” 1-1/2” 

T6LHR-516L (Left) 5/16" - 18 5-3/16” 2-7/32” 1-5/8” 

T6LHR-516R (Right) 5/16" - 18 5-3/16” 2-7/32” 1-5/8” 



 

 
22 

 

 

 

 

 

 
 

 

Part No. A (Thread) B C D T L 

T6TRET516-114UNF 5/16”-24 0.50” 0.25” 0.23” 0.38” 1.25” 

T6TRET516-114UNC 5/16”-18 0.50” 0.25” 0.23” 0.38” 1.25” 

T6TRET516-38UNC 5/16”-18 0.50 0.25” 0.23” 3” 3.80” 

T6TRET516-38UNF 5/16”-24 0.50 0.25” 0.23” 3” 3.80” 

T6TRLET516-28LAG 5/16”-LAG 0.50 0.25” 0.24” 1.50” 2.43” 
 

 

 
 

 

Part No. A (Thread) C E L 

T6DTHR-14L (Left) 1/4”-20 1.30” 0.25” 3” 

T6DTHR-14R (Right) 1/4”-20 1.30” 0.25” 3” 

T6DTHR-14UNFL (Left) 1/4”-28 1.30” 0.25” 3” 

T6DTHR-14UNFR (Right) 1/4”-28 1.30” 0.25” 3” 

T6DTHR-516L (Left) 5/16”-18 1.65” 0.36” 3.50” 

T6DTHR-516R (Right) 5/16”-18 1.65” 0.36” 3.50” 
  



 

 
23 

 

 

 

 

 
 

 

Part No. A B (Thread) C D E 

T6TTHR-14L (Left) 0.40” 1/4”-20 3.50” 0.23” 0.70” 

T6TTHR-14R (Right) 0.40” 1/4”-20 3.50” 0.23” 0.70” 

T6TTHR-14UNFL (Left) 0.40” 1/4"-28 3.50” 0.23” 0.70” 

T6TTHR-14UNFR (Right) 0.40” 1/4”-28 3.50” 0.23” 0.70” 

T6TTHR-516L (Left) 0.53” 5/16”-18 4” 0.31” 0.73” 

T6TTHR-516R (Right) 0.53” 5/16”-18 4” 0.31” 0.73” 

 

 
 

 
Part No. A (Thread) B C D 

T6JTHR-14L (Left) 1/4”- 20 0.25” 0.42” 2.90” 

T6JTHR-14R (Right) 1/4”-20 0.25” 0.42” 2.90” 

T6JTHR-516L (Left) 5/16”-18 0.31” 0.45” 3.20” 

T6JTHR-516R (Right) 5/16”-18  0.31” 0.45” 3.20” 

T6JTHR-38L (Left) 3/8”-16 0.34” 0.50” 4.30” 

T6JTHR-38R (Right) 3/8”-16 0.34” 0.50” 4.30” 

T6JTHR-12L (Left) 1/2”-13 0.46” 0.58” 4.82” 

T6JTHR-12R (Right) 1/2”-13 0.46” 0.58” 4.82” 

T6JTHR-58L (Left) 5/8”-11 0.62” 0.75” 6.25” 

T6JTHR-58R (Right) 5/8”-11 0.62” 0.75” 6.25” 

 
  



 

 
24 

 

 

 

 

 
 

 

Part No. B (Thread) A C D 

T6DPTHR-14L (Left) 1/4"-20 1” 1-7/8” 2-1/16” 

T6DPTHR-14R (Right) 1/4"-20 1” 1-7/8” 2-1/16” 

 

 

 
 

 
 

Part No. A D (Thread) L 

T6THRDM-14L 0.63” 1/4" -20 1.75” 

T6THRDM-14R 0.63” 1/4" -20 1.75” 

T6THRDM-516L 0.68” 5/16" -18 2.00” 

T6THRDM-516R 0.68” 5/16" -18 2.00” 

 

 

 

  



 

 
25 

 

 

 

 

 

 
 

 

Part No. Degrees A B 

T6AGWASHER30-14 30° 1/4” 5/8” 

T6AGWASHER30-516 30° 5/16” 11/16” 

T6AGWASHER30-38 30° 3/8” 11/16” 

T6AGWASHER30-716 30° 7/16” 11/16” 

T6AGWASHER30-12 30° 1/2” 11/16” 

T6AGWASHER32-716 32° 7/16” 11/16” 

T6AGWASHER33-14 33° 1/4” 5/8” 

T6AGWASHER33-516 33° 5/16” 11/16” 

T6AGWASHER33-38 33° 3/8” 11/16” 

T6AGW33-38INV* 33° 3/8” 19/32” 

T6AGWASHER33-716 33° 7/16” 11/16” 

T6AGWASHER33-12 33° 1/2” 11/16” 

T6AGWASHER37-14 37° 1/4” 5/8” 

T6AGWASHER37-516 37° 5/16” 11/16” 

T6AGWASHER37-38 37° 3/8” 11/16” 

T6AGWASHER37-716 37° 7/16” 11/16” 

T6AGWASHER37-12 37° 1/2” 11/16” 
 

 
 

 

Part No. A (Hole Size) O.D. 

T6AGWSHSOF516-1.5 5/16” 5/8” 

T6AGWSHSOF516-2.0 5/16” 5/8” 

T6AGWSHSOF716-1.5 7/16” 11/16” 

T6AGWSHSOF716-2.0 7/16” 11/16” 



 

 
26 

 

 

 

 

 
 

 

Part No. A (Hole Size) Post Size B 

T6AGWSHRP14-1.5 1/4" 1-1/2” 5/8” 

T6AGWSHRP14-2.0 1/4" 2” 5/8” 

T6AGWSHRP516-1.25 5/16” 1-1/4” 11/16” 

T6AGWSHRP516-1.5 5/16” 1-1/2” 11/16” 

T6AGWSHRP516-2.0 5/16” 2” 11/16” 

T6AGWSHRP516-2.0A 5/16” 2” 5/8” 

T6AGWSHRP10-1.5 3/8” 1-1/2” 11/16” 

T6AGWSHRP10-2.0 3/8” 2” 11/16” 

 

 
 

 
 

Part No. A (Hole Size) Post Size B 

T6AGWSHCTRP14-1.5 1/4" 1-1/2” 5/8” 

T6AGWSHCTRP14-2.0 1/4" 2” 5/8” 

T6AGWSHCTRP516-1.5 5/16” 1-1/2” 11/16” 

T6AGWSHCTRP516-2.0 5/16” 2” 11/16” 

T6AGWSHCTRP38-1.5 3/8” 1-1/2” 11/16” 

T6AGWSHCTRP38-2.0 3/8” 2” 11/16” 

  



 

 
27 

 

 

 

 

 
 

 

Part No. A (Hole Size) B TO USE WITH 

T6AGWSHCT-14 1/4" 5/8” T6HSTEM-18 

T6AGWSHCT-516 5/16” 11/16” T6HSTEM-316 

T6AGWSHCT-38 3/8” 11/16” T6HSTEM-14 
 

 

 
 

 

Part No. Thread Size A B 

T6FLWASHER-14 1/4" 15/32” 0.256" 

T6FLWASHER-14-58 1/4" 5/8” 0.258" 

T6FLWASHER-516 5/16” 5/8” 0.334” 

T6FLWASHER-38 3/8” 3/4” 0.413” 

T6FLWASHER-716 7/16” 1-1/8” 0.476” 

T6FLWASHER-12-114 1/2" 1-1/4” 0.513 

T6FLWASHER-58 5/8” 1-1/2” 0.712” 

T6FLWASHER-34 3/4" 1-7/16” 0.835” 
  

  



 

 
28 

 

 

 

 
 

 
 

 

Part No. Thread A H 

T6CPNUT-14L (Left) LEFT HAND 1/4"-20 1/2" 

T6CPNUT-14R (RIGHT) RIGHT HAND 1/4"-20 1/2" 

T6CPNUT-14UNFL (Left) LEFT HAND - FINE 1/4"-28 1/2" 

T6CPNUT-14UNFR (RIGHT) RIGHT HAND - FINE 1/4"-28 1/2" 

T6CPNUT-516L (Left) LEFT HAND 5/16”- 18 9/16” 

T6CPNUT-516R (RIGHT) RIGHT HAND 5/16”- 18 9/16” 

T6CPNUT-516UNFR (RIGHT) RIGHT HAND - FINE 5/16”- 24 9/16” 

T6CPNUT-38L (LEFT) LEFT HAND 3/8”- 16 3/4" 

T6CPNUT-38R (RIGHT) RIGHT HAND 3/8”- 16 3/4" 

T6CPNUT-12L (LEFT) LEFT HAND 1/2” – 13 13/16” 

T6CPNUT-12R (RIGHT) RIGHT HAND 1/2” – 13 13/16” 

T6CPNUT-58L (LEFT) LEFT HAND 5/8” - 11 1” 

T6CPNUT-58R (RIGHT) RIGHT HAND 5/8” - 11 1” 

 

 
 

 

Part No. A  B(Thread) C L 

T6STRCAP-18/316 0.20” 5/16”-24 9/16” 0.20” 

  



 

 
29 

 

 

 

 

 

 
 

 

Part No. Thread A H 

T6HXNUT-14L LEFT HAND 1/4"-20 0.22" 

T6HXNUT-14R RIGHT HAND 1/4"-20 0.22" 

T6HXNUT-516R RIGHT HAND 5/16”-18 0.26” 

T6HXNUT-516UNFL LEFT HAND 5/16”-24 0.26” 

T6HXNUT-516UNFR RIGHT HAND 5/16”-24 0.26” 

T6HEXNUT-38R RIGHT HAND 3/8”-16 0.33” 

T6HEXNUT-38L LEFT HAND 3/8”-16 0.33” 

T6HXNUT-12L LEFT HAND 1/2"-13 0.43” 

T6HXNUT-12R RIGHT HAND 1/2"-13 0.43” 

T6HXNUT-58R RIGHT HAND 5/8”-11 0.54” 

T6HXNUT-34R RIGHT HAND 3/4"-10 0.62” 

 

 

 
 

 

Part No. A (Thread) B C 

T6DCAP-14R (Right) 1/4"-20 5/8” 9/16” 

T6DCAP-14UNFR (Right) 1/4"-28 5/8” 9/16” 

  



 

 
30 

 

 

 

 
 

 

Part No. A (Thread) B C 

T6FJNUT-14L (Left) 1/4"-20 5/8” 3/8" 

T6FJNUT-14R (RIGHT) 1/4"-20 5/8” 3/8" 

T6FJNUT-14UNFR (RIGHT) 1/4"-28 5/8” 3/8" 

T6FJNUT-516L (LEFT) 5/16”-18 11/16” 15/32” 

T6FJNUT-516R (RIGHT) 5/16”-18 11/16” 15/32” 

T6FJNUT-516UNFL (LEFT) 5/16”-24 11/16” 15/32” 

T6FJNUT-516UNFR (RIGHT) 5/16”-24 11/16" 15/32" 
 

 
 

 

Part No. A (Thread) B C 

T6RJNUT-14L (Left) 1/4"-20 5/8” 7/16" 

T6RJNUT-14R (Right) 1/4"-20 5/8” 7/16" 

T6RJNUT-14UNFR (Right) 1/4"-28 5/8” 7/16" 

T6RJNUT-516L (Left) 5/16"-18 11/16” 7/16" 

T6RJNUT-516R (Right) 5/16"-18 11/16” 7/16” 

T6RJNUT-516UNFR (Right) 5/16”-24 11/16” 7/16” 

T6RJNUT-38L (Left) 3/8"-16 3/4" 9/16” 

T6RJNUT-38R (Right) 3/8"-16 3/4" 9/16” 
 

 
 

 

Part No. A (Thread) B C 

T6BPNUT-14R (Right) 1/4"-20 5/8” 9/16” 

  



 

 
31 

 

 

 

 

  

 
 

 
 

 

Part No. CABLE SIZE A B C L 

T6PROSLV 1/8”, 5/32”, 3/16” 0.21” 0.28” 0.50” 0.80” 

T6PROSLV-14 1/4” 0.27” 0.35” 0.57” 1.00” 

T6PROSLVAG (30°) 1/8”, 5/32”, 3/16” 0.21” 0.28” 0.64” 1.11” 

 
 

 
 

 
 

 
 

Part No. A (Thread) B C 

T6CCP-18 1/8” 3/4” 7/8” 

T6CCP-532 5/32” 3/4” 7/8” 

T6CCP-316 3/16” 3/4" 7/8” 

T6CCP-14 1/4" 3/4" 1” 

 

 
 
 
 

 

Part No. A B L 

T6SCR14-2 0.25” 0.44” 2” 
 

  



 

 
32 

 

 

 

 

 

 
 

 
Part No. A (Thread) B (Total Length) 

T6PB-316 3/16”-24 3-5/32” 

T6PB-14 1/4"-20 3-3/4” 

T6PB-14UNF 1/4"-28 3-3/4” 

T6PB-516 5/16”-18 4-3/16” 

T6PB-516UNF 5/16”-24 4-3/16” 

T6PB-38 3/8”-16 4-15/16” 

T6PB-38UNF 3/8”-24 4-15/16” 

T6PB-12 1/2”-13 5-7/8” 

T6PB-58 5/8”-11 7-5/8” 

T6PB-34 3/4"-10 8-1/4” 
  



 

 
33 

 

 

 

 

 
 

 

HAND SWAGE 

Part No. F (Cable Size) A (Thread) B C 

T6PBHSST14-18 1/8” 1/4”-20 3-3/4” 7-3/4” 

T6PBHSST14-316 3/16” 1/4"-20 3-3/4” 7-3/4” 

T6PBHSST516-14 1/4" 5/16”-18 4-5/32” 9-3/16” 

MACHINE SWAGE 

Part No. F (Cable Size) A (Thread) B C 

T6PBMSST14-18 1/8” 1/4"-20 3-3/4” 7-3/4” 

T6PBMSST14-316 3/16” 1/4”-20 3-3/4” 7-3/4” 

T6PBMSST516-316 3/16" 5/16”-18 4-5/32” 9-3/4” 

T6PBMSST516-14 1/4" 5/16”-18 4-5/32” 9-3/16” 

T6PBMSST38-316 3/16” 3/8”-16 4-3/4” 10-1/8” 

T6PBMSST38-14 1/4" 3/8”-16 4-3/4” 10-1/8” 

T6PBMSST12-14 1/4" 1/2” – 13 6” 11-3/4” 

T6PBMSST12-516 5/16” 1/2"-13 6” 14” 

T6PBMSST-58-38 3/8” 5/8”-11 7-5/8” 16-3/8” 

T6PBMSST34-12 1/2" 3/4”-10 8-3/8” 18-7/8” 

 
  



 

 
34 

 

 

 

 

 

 

 
 

 

Part No. F (Cable Size) A (Thread) B C 

T6PBHLSST14-18 1/8” 1/4"-20 3-3/4” 8-1/2” 

T6PBHLSST14-18UNF 1/8” 1/4"-28 3-3/4” 8-1/2” 

T6PBHLSST14-316 3/16” 1/4”-20 3-3/4” 8-1/2” 

T6PBHLSST14-316UNF 3/16” 1/4”-28 3-3/4” 8-1/2” 

T6PBHSLSST516-14 1/4” 5/16”-18 4-5/32” 10-3/16” 

T6PBHSLSST516-14UNF 1/4” 5/16”-24 4-5/32” 10-3/16” 

T6PBHSLSST38-14 1/4" 3/8”-16 4-3/4”” 10-1/2” 

T6PBHSLSST38-14UNF 1/4" 3/8”-24 4-3/4” 10-1/2” 

 
 

 

 
 

 

Part No. F (Cable Size) A (Thread) B C 

T6PBMLSST14-18 1/8” 1/4"-20 3-3/4” 8-1/2” 

T6PBMLSST14-18UNF 1/8” 1/4"-28 3-3/4” 8-1/2” 

T6PBMLSST14-316 3/16” 1/4”-20 3-3/4” 8-1/2” 

T6PBMLSST14-316UNF 3/16” 1/4”-28 3-3/4” 8-1/2” 

T6PBMLSST516-14 1/4” 5/16”-18 4-5/32” 9-1/2” 

T6PBMLSST516-14UNF 1/4” 5/16”-24 4-5/32” 9-1/2” 

T6PBMLSST38-14 3/8” 3/8”-16 4-3/4” 10-1/2” 

T6PBMLSST38-14UNF 3/8” 3/8”-24 4-3/4” 10-1/2” 

 

  



 

 
35 

 

 

 
 

 

 
 
 
 

 

Part No. C (Cable Size) A (Thread) B D 

T6PBHSRST14-18 1/8” 1/4"-20 3-3/4” 1/2" 

T6PBHSRST14-316 3/16” 1/4"-20 3-3/4” 1/2" 

T6PBHSRST516-14 1/4" 5/16”-18 4-5/32” 1/2" 

 

 

 
 

 

Part No. C (Cable Size) A (Thread) B D 

T6PBMSRST14-18 1/8” 1/4"-20 3-3/4” 1/2" 

T6PBMSRST14-316 3/16” 1/4"-20 3-3/4” 1/2" 

T6PBMSRST516-14 1/4" 5/16”-18 4-5/32” 1/2" 

T6PBMSRST38-14 1/4" 3/8”-16 4-3/4”” 1/2" 

 

 
 

 

  



 

 
36 

 

 

 

 

 
 

 
 

 

Part No. C (Cable Size) A (Thread) B D 

T6PBHLRST14-18 1/8” 1/4"-20 3-3/4” 1/2" 

T6PBHLRST14-18UNF 1/8” 1/4"-28 3-3/4” 1/2" 

T6PBHLRST14-316 3/16” 1/4"-20 3-3/4” 1/2" 

T6PBHLRST14-316UNF 3/16” 1/4"-28 3-3/4” 1/2" 

T6PBHLRST516-14 1/4" 5/16”-18 4-5/32” 1/2" 

T6PBHLRST516-14UNF 1/4" 5/16”-24 4-5/32” 1/2" 

T6PBHLRST38-14 1/4" 3/8”-16 4-3/4” 9/16" 

 

 

 
 

 

Part No. C (Cable Size) A (Thread) B D 

T6PBMLRST14-18 1/8” 1/4"-20 3-3/4” 1/2" 

T6PBMLRST14-18UNF 1/8” 1/4"-28 3-3/4” 1/2" 

T6PBMLRST14-316 3/16” 1/4"-20 3-3/4” 1/2" 

T6PBMLRST14-316UNF 3/16” 1/4"-28 3-3/4” 1/2" 

T6PBMLRST516-14 1/4" 5/16”-18 4-5/32” 1/2" 

T6PBHLRST516-14UNF 1/4" 5/16”-24 4-5/32” 1/2" 

T6PBMLRST38-14 1/4" 3/8”-16 4-3/4”” 1/2" 

 

  



 

 
37 

 

 

 

 

 
 

 
 

HAND SWAGE 

Part No.  C (Cable Size) A (Thread) B H 

T6PBHSLST14-18 1/8” 1/4”-20 3-3/4” 8-1/8” 

T6PBHSLST14-316 3/16” 1/4”-20 3-3/4” 8-1/8” 

T6PBHSLST516-14 1/4" 5/16”-18 4-5/32” 11-1/8” 

MACHINE SWAGE 

Part No.  C (Cable Size) A (Thread) B H 

T6PBMSLST14-18 1/8” 1/4”-20 3-3/4” 8-1/8” 

T6PBMSLST14-316 3/16” 1/4”-20 3-3/4” 8-1/8” 

 

 

 
 

 

HAND SWAGE 

Part No.  C (Cable Size) A (Thread) B H 

T6PBHLLST14-18 1/8” 1/4”-20 3-3/4” 8-1/8” 

T6PBHLLST14-316 3/16” 1/4”-20 3-3/4” 8-1/8” 

MACHINE SWAGE 

Part No.  C (Cable Size) A (Thread) B H 

T6PBMLLST14-18 1/8” 1/4”-20 3-3/4” 8-1/8” 

T6PBMLLST14-316 3/16” 1/4”-20 3-3/4” 8-1/8” 

  



 

 
38 

 

 

 

 

 

 
 

 

HAND SWAGE 

Part No.  C (Cable Size) A (Thread) B H 

T6PBHSDPST14-18 1/8” 1/4”-20 3-3/4” 0.212” 

T6PBHSDPST14-316 3/16” 1/4”-20 3-3/4” 0.25” 

MACHINE SWAGE 

Part No.  C (Cable Size) A (Thread) B H 

T6PBMSDPST14-18 1/8” 1/4”-20 3-3/4” 0.212” 

T6PBMSDPST14-316 3/16” 1/4”-20 3-3/4” 0.25” 

 

 

 
 

 

HAND SWAGE 

Part No.  C (Cable Size) A (Thread) B H 

T6PBHLDPST14-18 1/8” 1/4”-20 3-3/4” 0.212” 

T6PBHLDPST14-316 3/16” 1/4”-20 3-3/4” 0.25” 

MACHINE SWAGE 

Part No.  C (Cable Size) A (Thread) B H 

T6PBMLDPST14-18 1/8” 1/4”-20 3-3/4” 0.212” 

T6PBMLDPST14-316 3/16” 1/4”-20 3-3/4” 0.25” 

  



 

 
39 

 

 

 

 

 
 

 

HAND SWAGE 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBHSTST14-18 1/8” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

T6PBHSTST14-316 3/16” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

T6PBHSTST516-14 1/4" 5/16”-18 4-5/32” 0.72 0.55” 0.31” 

MACHINE SWAGE 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBMSTST14-18 1/8” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

T6PBMSTST14-316 3/16” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

T6PBMSTST516-14 1/4" 5/16”-18 4-5/32” 0.72” 0.55” 0.31” 
 

 

 
 

 

HAND SWAGE 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBHLTST14-18 1/8” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

T6PBHLTST14-18UNF 1/8” 1/4"-28 3-3/4” 0.70” 0.41” 0.23” 

T6PBHLTST14-316 3/16” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

T6PBHLTST14-316UNF 3/16” 1/4"-28 3-3/4” 0.70” 0.41” 0.23” 

T6PBHLTST516-14 1/4" 5/16”-18 4-5/32” 0.72 0.55” 0.31” 

MACHINE SWAGE 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBMLTST14-18 1/8” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

T6PBMLTST14-18UNF 1/8” 1/4"-28 3-3/4” 0.70” 0.41” 0.23” 

T6PBMLTST14-316 3/16” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

T6PBMLTST14-316UNF 3/16” 1/4"-28 3-3/4” 0.70” 0.41” 0.23” 

T6PBMLTST516-14 1/4" 5/16”-18 4-5/32” 0.72 0.55” 0.31” 

  



 

 
40 

 

 

 

 

 
 

 

HAND SWAGE 

Part No.  C (Cable Size) A (Thread) B D 

T6PBHSDTST14-18 1/8” 1/4"-20 3-3/4” 0.25” 

T6PBHSDTST14-316 3/16” 1/4"-20 3-3/4” 0.25” 

T6PBHSDTST516-14 1/4" 5/16”-18 4-5/32” 0.25” 

MACHINE SWAGE 

Part No.  C (Cable Size) A (Thread) B D 

T6PBMSDTST14-18 1/8” 1/4"-20 3-3/4” 0.25” 

T6PBMSDTST14-316 3/16” 1/4"-20 3-3/4” 0.25” 

T6PBMSDTST516-14 1/4" 5/16”-18 4-5/32” 0.25” 

 

 

 
 

 

HAND SWAGE 

Part No.  C (Cable Size) A (Thread) B D 

T6PBHLDTST14-18 1/8” 1/4"-20 3-3/4” 0.25” 

T6PBHLDTST14-18UNF 1/8” 1/4"-28 3-3/4” 0.25” 

T6PBHLDTST14-316 3/16” 1/4"-20 3-3/4” 0.25” 

T6PBHLDTST14-316UNF 3/16” 1/4"-28 3-3/4” 0.25” 

T6PBHLDTST516-14 1/4" 5/16”-18 4-5/32” 0.25” 

MACHINE SWAGE 

Part No.  C (Cable Size) A (Thread) B D 

T6PBMLDTST14-18 1/8” 1/4"-20 3-3/4” 0.25” 

T6PBMLDTST14-18UNF 1/8” 1/4"-28 3-3/4” 0.25” 

T6PBMLDTST14-316 3/16” 1/4"-20 3-3/4” 0.25” 

T6PBMLDTST14-316UNF 3/16” 1/4"-28 3-3/4” 0.25” 

T6PBMLDTST516-14 1/4" 5/16”-18 4-5/32” 0.25” 

  



 

 
41 

 

 

 

 

 

 
 

 

HAND SWAGE 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBHSJST14-18 1/8” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 

T6PBHSJST14-316 3/16” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 

T6PBHSJST516-14 1/4" 5/16”-18 4-5/32” 0.45” 0.46” 0.31” 

MACHINE SWAGE 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBMSJST14-18 1/8” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 

T6PBMSJST14-316 3/16” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 

T6PBMSJST516-316 3/16” 5/16”-18 3-3/4” 0.42” 0.44” 0.23” 

T6PBMSJST516-14 1/4" 5/16”-18 4-5/32” 0.45” 0.46” 0.31” 

T6PBMSJST38-14 1/4” 3/8”-16 4-5/32” 0.45” 0.46” 0.34” 

T6PBMSJST12-14 1/4" 1/2"-13 6.00” 1.00” 0.59” 0.46” 

T6PBMSJST58-38 3/8” 5/8”-11 7-5/8” 1.34” 0.69” 0.62” 
 

 

 
 

 

HAND SWAGE 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBHLJST14-18 1/8” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 

T6PBHLJST14-316 3/16” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 

T6PBHLJST516-14 1/4" 5/16”-18 4-5/32” 0.45” 0.46” 0.31” 

T6PBHLJST38-14 1/4” 3/8”-16 4-5/32” 0.45” 0.46” 0.34” 

MACHINE SWAGE 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBMLJST14-18 1/8” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 

T6PBMLJST14-316 3/16” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 

T6PBMLJST516-14 1/4" 5/16”-18 4-5/32” 0.45” 0.46” 0.31” 

T6PBMLJST38-14 1/4” 3/8”-16 4-5/32” 0.45” 0.46” 0.34” 



 

 
42 

 

 
 

 

Part No. A (Thread) B C D E 

T6PBJJ-316 3/16”-24 3-1/4” 5-3/16” 3/16” 1/4" 

T6PBJJ-14 1/4”-20 3-3/4” 5-7/8” 1/4" 11/32” 

T6PBJJ-516 5/16”-18 4-5/32” 7-5-16” 5/16” 3/8” 

T6PBJJ-38 3/8”-16 4-3/4” 8-3/4” 3/8” 1/2" 

T6PBJJ-12 1/2"-13 8” 10-3/4” 1/2" 9/16” 

 
 

 
 

 

Part No. (Thread) A B C D E 

T6PBTT-14 1/4"-20 3-3/4” 5-3/4” 0.66” 5/16” 

T6PBTT-14UNF 1/4"-28 3-3/4” 5-3/4” 0.66” 5/16” 

T6PBTT-516 5/16”-18 4-5/32” 7-5/16” 0.66” 3/8” 

T6PBTT-38 3/8”-16 4-3/4” 8-1/2” 0.70” 9/16” 

T6PBTT-12 1/2"-13 6” 10” 1.12” 5/8" 

T6PBTT-58 5/8”-12 7-5/8” 13-5/8” 1.18” 3/4" 

T6PBTT-34 3/4"-10 8-3/8” 16-1/2” 1.75” 7/8” 



 

 
43 

 

 

 

 

 
 

 

Part No. (Thread) A B C D E 

T6PBMEE316-472 3/16”-24 3-3/16” 5-1/8” 7/32” 1/2” 

T6PBMEE14-531 1/4-28 3-3/4” 5-15/16” 1/4" 9/16” 

T6PBMEE516-630 5/16”-24 4-5/32” 7” 5/16” 11/16” 

T6PBMEE38-748 3/8”-24 5” 8-1/2” 13/32” 29/32” 

 

 

 

  



 

 
44 

 

 

 

 
 
 
 
 

 
 
 

Part No. A B C D L 

T6RPDLCK-18 0.36” 1.14” 0.13” 0.63” 1.27” 

T6RPDLCK-316 0.53” 1.63” 0.25” 0.75” 1.88” 

 

 
 
 
 

 

Part No. A B COMPATIBILITY 

T6RPDLCKCP-18/316 0.38” 0.74” 1/8” & 3/16” 
 

 
 
 
 

 

Part No. A B COMPATIBILITY 

T6RPDLCKNUT 0.61” 0.25” 1/4” - 20 

 
 
 
 
 

Part No. COMPATIBILITY 

RPDLCKEY-18 1/8” 

RPDLCKEY-316 3/16” 



 

 
45 

 

 

 

 

 
 
 

 

Part No.  A (Thread) B (Cable Size) C L 

T6HSST14-18L-BK (Left) 1/4" - 20 1/8” 2” 4” 

T6HSST14-18R-BK (Right) 1/4" - 20 1/8” 2” 4” 

T6HSST14-316L-BK (Left) 1/4" – 20 3/16” 2-1/2” 4-11/32” 

T6HSST14-316R-BK (Right) 1/4" - 20 3/16” 2-7/16” 4-3/8” 

 

 
  

Part No.  A (Cable Size) B (Thread) L 

T6HLSST14-18LBK (Left) 1/8” 1/4" – 20 4-9/32” 

T6HLSST14-18RBK (Right) 1/8” 1/4" - 20 4-9/32” 

T6HLSST14-316LBK (Left) 3/16” 1/4" - 20 4-1/4” 

T6HLSST14-316RBK (Right) 3/16” 1/4" - 20 4-1/4” 

 

  

Part No. A (Cable Size) B C L 

T6HLST-18BK (Right) 1/8” 2” 1.35” 4” 

T6HLST-18LBK (Left) 1/8” 2” 1.55” 4” 

T6HLST-316BK (Right) 3/16” 2” 2” 4-3/8” 

T6HLST-316LBK (Left) 3/16” 2” 2” 4-3/8” 

  



 

 
46 

 

 

 
 

 
 

 

Part No. A (Cable Size) H L 

T6HDPST-18BK 1/8” 1/4” 3-3/4” 

T6HDPST-316BK 3/16” 1/4" 4” 

Short Style 

T6HDPST-18SBK 1/8” 1/4” 2-1/4” 

T6HDPST-316SBK 3/16” 1/4" 2-1/4” 

 

 
 
 

 

Part No. A D T (Thread) L1 L2 M (Cable) 

T6STRBODY-1.5BK 0.53” 0.43” 5/16”-24 1-1/2” 1”  

T6STRSTUD-316BK   5/16”-24  1” 3/16” 

  



 

 
47 

 

 

 

 

 

 
  

Part No. D (Cable Size) A L 

T6HDOME-18BK 1/8” 5/8” 2-1/4” 

T6HDOME-18PBK (Plain head) 1/8” 5/8” 2-1/4” 

T6HDOME-316BK 3/16” 5/8” 2-3/8” 

T6HDOME-316PBK (Plain head) 3/16” 5/8” 2-3/8” 

 

 
 

 

Part No. T (Thread) A D L 

T6RCVR14-18/316BK 1/4"-20 0.62” 0.38” 2-3/16” 

Part No. A (Cable Size) B (Thread) L 

T6HSST14-18INVBK 1/8” 1/4”-20 2-3/4” 

T6HSST14-316INVBK 3/16” 1/4”-20 2-3/4” 

 

 
 
 

 

Part No. A (THREAD) B C D E F L 

T6DRCVR14-18/316-1.5BK 1/4”-20 1/2” 3/8” 19/32” 5/32” 1” 1-1/2” 
  



 

 
48 

 

 

 

 

 
 
 

 

Part No. A B C D E L 

T6RHDOME-18-1.5BK 1/8” 7/32” 1.00” 19/32” 5/32” 1-1/2” 

T6RHDOME-316-1.5BK 3/16” 9/32” 1.00” 19/32” 5/32” 1-1/2” 
 

 

 
 

 
 

Part No. A (Cable Size) B C D 

T6HTST-18BK 1/8” 0.38” 3-1/2” 0.23” 

T6HTST-316BK 3/16” 0.38” 3-3/4” 0.23” 
 

 
 

 
 

 
Part No. A (Cable Size) B C D 

T6HJST-18BK 1/8” 0.20” 0.28” 2.15” 

T6HJST-316BK 3/16” 0.31” 0.38” 2.75” 

 

 
 
 

 
Part No. A (Cable Size) B C L 

T6HDTST-18BK 1/8” 1/4" 1-3/8” 3” 

T6HDTST-316BK 3/16” 1/4" 1-3/8” 3-1/4” 
  



 

 
49 

 

 

 

 

 
 
 

 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBHLJST14-18BK 1/8” 1/4"-20 3-3/4” 0.42” 0.32” 0.23” 

T6PBHLJST14-316BK 3/16” 1/4"-20 3-3/4” 0.42” 0.32” 0.23” 
 

 

 
 
 

 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBHSJST14-18BK 1/8” 1/4"-20 3-3/4” 0.42” 0.32” 0.23” 

T6PBHSJST14-316BK 3/16” 1/4"-20 3-3/4” 0.42” 0.32” 0.23” 
 

 

 
 

 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBHLTST14-18BK 1/8” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

T6PBHLTST14-316BK 3/16” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 
 

 

 
 

 

Part No. C (Cable Size) A (Thread) B D E P 

T6PBHSTST14-18BK 1/8” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

T6PBHSTST14-316BK 3/16” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 

  



 

 
50 

 

 

 

 

 
 

 

Part No.  C (Cable Size) A (Thread) B D 

T6PBHLDTST14-18BK 1/8” 1/4"-20 3-3/4” 0.25” 

T6PBHLDTST14-316BK 3/16” 1/4"-20 3-3/4” 0.25” 
 

 
 
 

 

Part No.  C (Cable Size) A (Thread) B D 

T6PBHSDTST14-18BK 1/8” 1/4"-20 3-3/4” 0.25” 

T6PBHSDTST14-316BK 3/16” 1/4"-20 3-3/4” 0.25” 
 

 
 
 

 

Part No.  C (Cable Size) A (Thread) B H 

T6PBHLDPST14-18BK 1/8” 1/4”-20 3-3/4” 0.212” 

T6PBHLDPST14-316BK 3/16” 1/4”-20 3-3/4” 0.25” 
 



 

 
51 

 

 

 
 
 
 

 

Part No.  C (Cable Size) A (Thread) B H 

T6PBHSDPST14-18BK 1/8” 1/4”-20 3-3/4” 0.212” 

T6PBHSDPST14-316BK 3/16” 1/4”-20 3-3/4” 0.25” 

  



 

 
52 

 

 

 

 

 
 

 
 

 

Part No.  C (Cable Size) A (Thread) B H 

T6PBHLLST14-18BK 1/8” 1/4”-20 3-3/4” 8-1/8” 

T6PBHLLST14-316BK 3/16” 1/4”-20 3-3/4” 8-1/8” 

 

 

 
 

 
 

 

Part No.  C (Cable Size) A (Thread) B H 

T6PBHSLST14-18BK 1/8” 1/4”-20 3-3/4” 8-1/8” 

T6PBHSLST14-316BK 3/16” 1/4”-20 3-3/4” 8-1/8” 

 

 

 
 

 

Part No. F (Cable Size) A (Thread) B C 

T6PBHLSST14-18BK 1/8” 1/4"-20 3-3/4” 8-1/2” 

 

 
 

 

Part No. A (Thread) B (Total Length) 

T6PB-14BK 1/4"-20 3-3/4” 
  



 

 
53 

 

 

 

 

 

 
 
 

 

Part No. Thread A H 

T6HXNUT-14R-BK (RIGHT) RIGHT HAND 1/4"-20 0.22" 

 

 
 

 

Part No. Thread A H 

T6CPNUT-14RBK (RIGHT) RIGHT HAND 1/4"-20 1/2" 

 

 
 

 

Part No. A (Thread) B C 

T6RJNUT-14RBK (Right) 1/4"-20 5/8” 7/16" 

 

 
 

 

Part No. A (Thread) B C 

T6FJNUT-14RBK (Right) 1/4"-20 5/8” 7/16" 

  



 

 
54 

 

 

 

 

 
 

 

Part No. A B C D L 

T6PROSLV-BK 1/8”, 5/32”, 3/16” 0.21” 0.28” 0.50” 0.80” 

 

 

 
 
 
 

 

Part No. Degrees A B 

T6AGWASHER30-14BK 30° 1/4” 5/8” 

T6AGWASHER33-14BK 33° 1/4” 5/8” 

T6AGWASHER33-38BK 33° 3/8” 5/8” 

T6AGW33-38INVBK* 33° 3/8” 19/32” 

 

 
 
 

 

Part No. Thread Size A B 

T6FLWASHER-14-58BK 1/4" 5/8” 0.258" 

 

*TO BE USED WITH INVISIBLE RECEIVER  



 

 
55 

 

 

 

 

 
 
 

 

Part No. A B L 

T6SCR14-2BK 0.16” (#8) 0.32” 2” 
 

 
  

Part No. Size Construction WLL (LBS) Approx. WT/100ft (LBS) 

T6WR119-18 1/8” 1x19 420 3.50 

T6WR119-316 3/16” 1x19 940 7.70 
  



 

 
56 

 

 

 

 

Swage Dimensions 

Cable size Before swage (inch) After swage (inch) 

3/32” 0.213 - 0.218 0.185 - 0.19 

1/8” 0.245 - 0.25 0.214 - 0.219 

1/8” hand swage 0.213 - 0.218 0.185 - 0.19 

5/32” 0.292 - 0.297 0.245 - 0.25 

3/16” 0.354 - 0.359 0.308 - 0.313 

3/16” hand swage 0.292 - 0.297 0.245 - 0.25 

7/32” 0.422 - 0.427 0.368 - 0.375 

1/4” 0.489 - 0.494 0.431 - 0.438 

9/32” 0.558 - 0.563 0.492 - 0.500 

5/16” 0.630 - 0.635 0.554 - 0.563 

3/8” 0.698 - 0.703 0.618 - 0.625 

7/16” 0.773 - 0.781 0.680 - 0.688 

1/2” 0.839 - 0.844 0.741 - 0.75 

9/16” 0.979 - 0.984 0.866 - 0.875 

5/8” 1.104 - 1.109 0.990 - 1.000 

3/4” 1.354 - 1.359 1.238 - 1.250 

7/8” 1.583 - 1.593 1.425 - 1.437 

1” 1.802 - 1.812 1.613 - 1.625 
 

  



 

 
57 

 

 

 

 

Conversion Chart – Fraction – Decimal – Metric  

Fraction Decimal Metric 

1/64 0.015625 0.397 mm 

1/32 0.031250 0.794 mm 

3/64 0.046880 1.191 mm 

1/16 0.062500 1.588 mm 

5/64 0.078130 1.985 mm 

3/32 0.093750 2.381 mm 

7/64 0.109380 2.778 mm 

1/8 0.125000 3.175 mm 

9/64 0.140630 3.572 mm 

5/32 0.156250 3.969 mm 

3/16 0.187500 4.763 mm 

7/32 0.218750 5.556 mm 

1/4 0.250000 6.350 mm 

9/32 0.281250 7.144 mm 

5/16 0.312500 7.938 mm 

3/8 0.375000 9.525 mm 

7/16 0.437500 11.113 mm 

1/2 0.500000 12.700 mm 

9/16 0.562500 14.288 mm 

5/8 0.625000 15.875 mm 

11/16 0.687500 17.463 mm 

3/4 0.750000 19.050 mm 

7/8 0.875000 22.225 mm 

1 1.000000 25.400 mm 
 
 

 

 

  



 

 
58 

 

 

 

 

Thread Pitch Chart 

United Coarse Thread (UNC) United Fine Thread (UNF) Metric 

1/4x20 1/4x28 1/4x25.5 

5/16x18 5/16x24 5/16x20 

3/8x16 3/8x24 3/8x17 

7/16x14 7/16x20 - 

1/2x13 1/2x20 1/2x14.5 

5/8x11 5/8x18 5/8x12.7 

3/4x10 3/4x16 3/4x10 

7/8x9 7/8x14 7/8x10 

1x8 1x14 1x8.5 

1-1/8"x7 1-1/8 x12 - 

1-1/4 x7 1-1/4 x12 - 

1-1/2 x6 1-1/2 x12 - 
  



 

 
59 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



 

 
60 

 

 


